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% MATLAB verification for Problem 3.2 (a)

close all

clear all

t =-1:0.01:1;

% original function

x = sin(5*pi*t)."3;

figure

subplot(1,2,1);

plot(t,x)

% As sum of cosine functions

y = (3*cos(5*pi*t-pi/2) +
cos (15*pi*t+pi/2)) /4;

subplot(1,2,2)

plot(t,y)

MATLAB verification for Problem 3.2 (b)

= -0.5:0.01:0.5;

original function

x = (cos(2*pi*t).*cos(l4a*pi*t))."2;

figure

subplot(1,2,1);

plot (t,x)

% As sum of cosine functions

vy = (2 + 2*cos(4*pi*t)+cos(24*pi*t) +
2%cos (28*pi*t) + cos(32*pi*t))/8;

subplot (1,2,2)

plot(t,y)
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